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Question Number : 1 Question Id : 36496352361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): There cannot be a universal notion of a child and childhood.

Reason (R): Understanding of children and childhood does not depend on the socio-cultural

contexts.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 1 Question Id : 36496352361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496352362 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of development of children it is correct to say that -
Options :

1. Everything is determined by the genes.

2. Everything is determined by the environment.

3. Both nature and nurture play an interactive role.

4. Three-fourth of traits are inborn while environment accounts for the rest.

Question Number : 2 Question Id : 36496352362 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496352363 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): The age ranges prescribed for development milestones are only averages.

Reason (R): Children develop at different rates and reach developmental milestones at different

points.

Choose the correct options.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 3 Question Id : 36496352363 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496352364 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage can children solve statements of propositional logic such as - "If All Humans are

fish and some fish are intelligent. Are all humans intelligent?"
Options :

1. Sensori-motor Stage

2. Pre-operational Stage

3. Concrete Operational Stage

4. Formal Operational Stage

Question Number : 4 Question Id : 36496352364 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496352365 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a critique of Jean Piaget's theory of cognitive development?
Options :

1. Language plays a very important role in cognitive development of children.

2. Children learn by actively acting upon their environment.

3. Children think in ways that are qualitatively different from that of adults

4. Children have an inborn desire to make sense of the world

Question Number : 5 Question Id : 36496352365 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496352366 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vygotskian method in which teachers and students collaborate in learning is called-
Options :

1. Discovery learning

2. Reciprocal teaching

3. Programmed Instruction

4. Expository teaching

Question Number : 6 Question Id : 36496352366 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496352367 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky's theory, scaffolding -

Options:

1. entails changing the quantity as well as the quality of the support provided to the child.
2. is not influential in the cognitive development of children.

3. Entails changing only the quantity of the support given to the child

4. Entails changing only the quality of the support given to the child

Question Number : 7 Question Id : 36496352367 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496352368 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of Lawrence Kohlberg's moral development theory, do individual base their

judgement on individual rights and justice for greater good?
Options :

1. Obedience and Punishment Orientation



2. Good bod-good girl orientation
3. Authority and social-order orientation

4. Universal Ethical Principles orientation

Question Number : 8 Question Id : 36496352368 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496352369 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Howard Gardener -

Options :

1. critiques the conventional thinking of intelligence as a fixed trait.
2. proposed 12 different types of intelligences.

3. gave the theory of creativity.

4. proposed the unitary construct of intelligence.



Question Number : 9 Question Id : 36496352369 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496352370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Education Policy 2020 children at primary level learn best -
Options:

1. when the medium of instruction is their home language/mother tongue.

2. when the content is decontextualized.

3. when they are assessed on the basis of rote memorization.

4. When a structured and uniform curriculum is followed.

Question Number : 10 Question Id : 36496352370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496352371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In progressive education, the learners are-

Options :

1. autonomous and have a curiosity to learn

2. totally dependent on the teachers for directions

3. considered 'uncivilized beings' who need to be socialized

4. passive beings who have to be controlled by the teachers

Question Number : 11 Question Id : 36496352371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496352372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom built on socio-constructivist framework-
Options :

1. children listen passively while the teacher teaches.

2. material is meant only for display.

3. seating arrangement changes according to the activity.

4. assessment is undertaken as a separate activity from learning.

Question Number : 12 Question Id : 36496352372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496352373 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a correct strategy for a teacher to address gender stereotyping in a

middle school classroom?

Options :

1. Discuss gender as a social construction.

2. Encourage non-sexist behaviours.

3. Discuss portrayal of women and men in textbooks critically.

4. Encourage boys to take up maths and science and girls to take up language.

Question Number : 13 Question Id : 36496352373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT B & R W1 U o Tk T AT ies el § St Bt 1 Wt 3 2 o e A 27

Options:

= ~ . =, - r-
| SIS T WIHIISR ST o B H ==l 1|

5 . TErTaTet s9a=) &1 TreEEd

4 TS <R 1 IO 271 T3 v Seferat st WSt fawa &1 o foAu wiesntee s

Question Number : 14 Question Id : 36496352374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What pedagogical strategies should schools adopt to cater to individual differences among

learners?

Options :



1. Removing all differences among the learners
2. Dismissing all differences among the learners
3. Treating all learners in the same manner irrespective of their individual needs

4. Catering to individual needs by preparing individualized education plans

Question Number : 14 Question Id : 36496352374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496352375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of question that would promote critical thinking in children?
Options :

1. Draw a diagram of plant cell.

2. Suggest various ways to resolve water shortage in your state.

3. calculate (384)7

4. What is the area and population in India?



Question Number : 15 Question Id : 36496352375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496352376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to promote inclusion in education, which of the following becomes a barrier?
Options :

1. Principle of Equity

2. Culture of Empathy

3. Inaccessible building

4. Response to Intervention

Question Number : 16 Question Id : 36496352376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496352377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice goes against the philosophy of inclusive education?
Options :

1. Giving importance to learner's voices

2. Implementing culturally inclusive curriculum

3. Keeping high expectations from selected few

4. Responding positively to diversity

Question Number : 17 Question Id : 36496352377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496352378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following disability is directly associated with the difficulty in social interactions?
Options :

1. Autism

2. Dyslexia

3. Locomotor Disability

4. Visual impairment

Question Number : 18 Question Id : 36496352378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496352379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following practice will hinder successful inclusion of students with hearing
impairment?

Options :

1. Allowing extra time for processing information

2. Captioning or scripts for announcements or videos

3. Enhancing lip reading conditions in classroom

4. Relying extensively on lecture mode of teaching

Question Number : 19 Question Id : 36496352379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496352380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to the needs of students with giftedness, a teacher should avoid:
Options:

1. allowing independent learning opportunities

2. Providing opportunities for self-directed activities



3. Setting uniform goals for all students

4. Using advanced supplementary reading materials

Question Number : 20 Question Id : 36496352380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496352381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should give the opportunities to students for applying the learning to

different situations.

Reason (R): Applying the learned concepts to particular situations supports deep, long-lasting

knowledge among learners

Choose the correct option.

Options :



1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 21 Question Id : 36496352381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496352382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants to facilitate cognitive monitoring skills among his students. Which of the following

should be avoided by him for this purpose?
Options :

1. Dismissing errors without discussion

2. Identifying what doesn't make sense

3. Making intuitive predictions of answers



4, Self-questioning and self-testing

Question Number : 22 Question Id : 36496352382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496352383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students' failure is often connected with disinterest in learning tasks. This can be minimized by:
Options :

1. conditioning them to get the task completed as easily as possible.

2. helping students to understand the relevance of learning the tasks.

3. making learning tasks highly incomprehensible for most students.

4. not specifying the applicability for learning tasks in their real-life.

Question Number : 23 Question Id : 36496352383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ERIPRIE] Ir&umm\ﬂcﬂd(aﬁMmquﬁaﬁﬁaﬁﬁﬁ%ﬁﬁﬁ?ﬁﬁ%ﬁmmﬁmmmﬁ?
Options :

. FTE T FUTENE AT H T FA F 170 378 ST 1)

, Tt = st =t Hree i T B Ee  TaE A

3 AT TTTeia o AT |ig o a1 31 STy S|

= ~ g - T "% . 7] =, i [’
4. T IS SHaA | TG 3 HE A TArSTal 1 HEE T

Question Number : 24 Question Id : 36496352384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learning becomes effective and relevant when:

Options :

1. new content is disconnected with previous knowledge

2. passive imitation is repeated several times by students

3. students are actively involved in process of meaning-making

4. Students' responses are conditioned using certain stimulus

Question Number : 24 Question Id : 36496352384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496352385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following question exemplify procedural knowledge?
Options :

1. State Pythagoras' theorem.

2. Name the main components present in food.

3. How to ride a bicycle?

4. Who is the author of the novel 'Godan'?

Question Number : 25 Question Id : 36496352385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496352386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement about metacognition is not correct?
Options :

1. Meta-cognition helps in reflecting on one's own knowledge.

2. Meta-cognition is a lower-order knowledge.

3. Meta-cognition regulates cognition and learning.

4. Metacognition is 'thinking about thinking'.

Question Number : 26 Question Id : 36496352386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496352387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factor hinders problem-solving process among students?



Options :

1. Anticipating the consequences of selected solution
2. Defining goals and representing the problem

3. Exploring multiple possible solutions

4. Fixating on conventional uses for materials

Question Number : 27 Question Id : 36496352387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496352388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is Correct in context of alternative conceptions?

Options :

1. Alternative conceptions are always baseless and should be highly discouraged by teachers

2. Alternative conceptions are meaningful in mediating children's ability to learn

3. Alternative conceptions don't signify anything about conceptual change and cognitive abilities

4. Alternative conceptions get formed only among those children who have neurological deficits



Question Number : 28 Question Id : 36496352388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496352389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following emotion negatively impact learning?
Options:

1. Curiosity

2.)Joy

3. Hopelessness

4. Pride

Question Number : 29 Question Id : 36496352389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496352390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following set of attributions on success or failure on a task is likely to cause decline in

students' motivation and attempts to engage in similar tasks in the future?
Options :

1. Stable, uncontrollable

2. Unstable, controllable

3. Internal, controllable

4. Internal, unstable

Question Number : 30 Question Id : 36496352390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ToFRl 72 3 e 1 el O el B 6 -0 ST S1ed 3 e 261 T 34T 36 e 3
T e 2 3 A 5 T o S e 2
Options :

, T,

5 R, frgafT



3.

Mathematics and Science
Section Id : 3649631669
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 3649633029
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 36496352391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2 -3 1 3 3 : :
Ifx =- X — —— — =X - ,then what is the reciprocal of 3x7
5 7 14 7 5
Options:
2

1. 3



L] 3

| =

Question Number : 31 Question Id : 36496352391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

" 1 3 3. .
Mr=2x > —— — =X=-2A3x FTSFARTE
E=5 27 14 7 S'ET'X % ®
Options :
2
1.3
3
5 2
2
I
1
4, 2

Question Number : 32 Question Id : 36496352392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If the 5-digit number 9x34y is divisible by 24, then what is the maximum value of (x + y) ?
Options:
1. 10

Question Number : 32 Question Id : 36496352392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS Wi ST T 0x34y, 24 W TAWIST &, A (v + ) T ATTFH T 4T 27

Options :
1. 10

2. 16

3, 12

4. 13

Question Number : 33 Question Id : 36496352393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5

5 5 5
What should be added to the sum (— R —) to get — ?
10 100 1000 2

Options :
1. 1.955



3. 1.945

4 1.845

Question Number : 33 Question Id : 36496352393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5 5 2 N O
(__-+ + ) o T ST 10 R AT~ e A
10 100 1000 2

Options :
1. 1.955

Question Number : 34 Question Id : 36496352394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1 ; : o 3
Ina class of 60 students, : of the total number of students Like to study Hindi, - of the remaining like to study
Mathematics and the remaining like to study Science. How many students like % study Science?

Options :
1. 24

2. 18



Question Number : 34 Question Id : 36496352394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

60m@mﬁwwwwﬁaﬁmwwm b bt otk mﬁaﬁtﬁwmmawﬁm
wwmmﬁmﬁmﬁ%ﬂwwmmﬁﬁwwwwmﬁm&mﬁw%

Options :
1. 24

Question Number : 35 Question Id : 36496352395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which least number should be added to 1510 to make it a perfect square?

Options :
1. 6

3 14



Question Number : 35 Question Id : 36496352395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1510 5 -1 AT ST SIS S0 136 78 05 QUi a7 & Sr?

Options:
1. 6

4. 11

Question Number : 36 Question Id : 36496352396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
If4+ 5 (x — 1) =34, then the value of 4x* — 3x is

Options :
1. 175

5> 180



Question Number : 36 Question Id : 36496352396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
IT4+5 (x—1)=348 T4x2 — 3x FAFE:

Options:
1175

Question Number : 37 Question Id : 36496352397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the coefficient of x* in the result, when (8x — x> — 4) is subtracted from (3x° + 5x — 4)?

Options :

Question Number : 37 Question Id : 36496352397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
(3x% +5x — 4) FH (8x — x% — 4) I TIH T ITH TROMH F 2 FFQWW'?’

Options :

Question Number : 38 Question Id : 36496352398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While calculating the value of 95 X 103, a student writes
95X 103 = 10000+ 10a — 15.

Then. what is the value of a ?
Options :
1. 10

Question Number : 38 Question Id : 36496352398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



05 X 103 1 I oo T3, T = 95 X 103= 10000+ 10a— 5 fore@n 78, a A AT AR 2

Options :
1. 10

2 20
3 — 20

4. — 10

Question Number : 39 Question Id : 36496352399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A factory requires 42 machines to produce a certain number of articles in 63 days. It is proposed to produce same
number of articles in 54 days, using X machines.

The value of 3% is
Options:
1. 49

3 108

4 147

Question Number : 39 Question Id : 36496352399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Fort S 0 T 63 T e 0 5 o 4 o o e e 21 e fe e £
A 7, T o 9 T 2, 54 R R o ) 3y A

Options :

1 49

5 36
3 108

4. 147

Question Number : 40 Question Id : 36496352400 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

x‘i‘—fy+z}4
x4 y2+ zz+2yz

is equal to

Options :
(x—y+2)(x+y+z)

1
, —y—2)(x+y+2)

3 x+y—-z)(xty+z)

s —y—2) (x—y+2)

Question Number : 40 Question Id : 36496352400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



xt—(y+z2)*
x?+ y2+ z242yz

T 2

Options :
 x—y+z)(x+y+z)

, —y—2) (x+y+2)

; x+y—z)(x+y+2)

4 @—y—2)(x—y+2)

Question Number : 41 Question Id : 36496352401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AB isa line and a point P lies on it. PC and PD are two rays on the same side of AB such that ray PC lies befween rays
PB and PD. If ZAPD = 80° and angles CPD and BPC are in the ratio of 2: 3, then

32CPD +2 £BPC is equal to

Options :
1. 240°
2. 200°

3 120°

4 100°

Question Number : 41 Question Id : 36496352401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AB T 1 % 74 P 3 R 4 T 21 AB % T 1 T 21 Ot PC i PD 98 P £ o o P
PB4 PD % ¥ % 21 9% LAPD = 80° 27 CPD 4% BPC 1 370 2:3 %, 3£CPD +2

/BPC TAE;
Options :
1. 240°

5, 200°
3 120°

4 100°

Question Number : 42 Question Id : 36496352402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The length of the median PS of a triangle PQR is half of the length of its side QR. If ZR = 24° then £ is equal to

Options :
1. 24-°

Question Number : 42 Question Id : 36496352402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T s PQR 61 T PS T ekt T QR 1 s 1 el 21 ZR =24° 2, £ Qo e



Options :
1. 24°

> 36°
3 48°

4. 66°

Question Number : 43 Question Id : 36496352403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ABCD is a quadrilateral in which £4 = £D and £B = 4C . Then,

Options :
1. ABCD is an isosceles trapezium with ABJ|CD.

> ABCD is an isosceles trapezium with ADI|BC.

3. ABCD is a kite with AB=AD.

4. ABCD is a kite with AB=BC.

Question Number : 43 Question Id : 36496352403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ABCD W& =g ¢, & £ A= 2D 3R £ B=C 2l 7,

Options:

. ABJ[CD % |19 ABCD U HH{ZaTE #5192



, ADI|BC ¥ FY ABCD TF HH{ZaTE T

3 AB=AD % HTT ABCD U= U 2|

4 AB=BC % &1 ABCD T TaT 2|

Question Number : 44 Question Id : 36496352404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following figures have linear symmetry but no rotational svmmetry?

Options :

1. Equilateral triangle

, Rectangle

3. Kite

4. Rhombus

Question Number : 44 Question Id : 36496352404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Fefetas =  foer STt 3 Ree HTHT 2l 2, W =i Wt T8t 2t 87
Options :

2. S



Question Number : 45 Question Id : 36496352405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The lengths of two sides of a triangle are 13cm and 19cm. The length of the third side of the triangle must lie between

Options:

1. 13cm and 19cm only
> 12cmand 32cm only
3. Scmand 21cm only

4 6cm and 32cm only

Question Number : 45 Question Id : 36496352405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
%ﬁr%ﬂﬁﬁﬁﬂmﬁ?ﬁw' g‘13cmaﬁ{19c111%13ﬁﬁﬁ3ﬁﬁ‘\'ﬂﬁﬂﬁ@fdm§ﬁ\rﬁwﬁﬂ@n%aﬁﬁ

Options :

1. I 13 cm T 19 cm
2. FF 12 cm 3T 32 cm

3. FI 8 cm AT 21 cm



4. A 6 cm HAR 32 cm

Question Number : 46 Question Id : 36496352406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Area of a triangle of sides 45cm, 51em and 24cm is equal to the area of a rectangle of length 30cm. Then, perimeter of
the rectangle is

Options :
1. 96¢cm

2 48cm
3. 120cm

4. 60cm

Question Number : 46 Question Id : 36496352406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ﬂmﬁﬁ cm, 31 cm ¥ 24 cmaﬁﬂﬁm’ﬁgﬁmmﬁﬁﬁmcmmﬁmwﬁ 4 o T 2] G

T AR F TS,
Options:
1. 96 cm
2 48 cm

3. 120 cm

4. 60 cm



Question Number : 47 Question Id : 36496352407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The area of a circular garden of diameter 9.8m is A . Then, value of 24 + 4.48 m?is (use 7 =2?—2 )
Options :

1. 154.50m°

3 154.48m?

4. 133: 44m?

Question Number : 47 Question Id : 36496352407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S 9.8 m T T TR = o T A 27 24+ 4.48 m AR ( = scraﬁnaﬁlﬁq)

Options :
1 15450 m’

3. 154.48 m?

4 15544 m?



Question Number : 48 Question Id : 36496352408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The diameter of a road roller of length 1m is 84cm. It takes 750 complete revolutions to level a ground once. Then, area
: 2
of the ground is (vse 7 = . )

Options :

1 1980m>
2.990nf
3. 2180m°

4. 1090m’

Question Number : 48 Question Id : 36496352408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
| 0 T -2 1 T 84 cin 1 7 o S 6 o 0 0 0 750 R T 21 7,

s (1 = % e

Options :

1 1980 m?
2,9901}1j

3. 2180 m°



4 1090 m’

Question Number : 49 Question Id : 36496352409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mean of the range, mode and median of the observations
15,50, 120,06, 80,100, 10,8,10.15;,15 18

Options :
1. 48

5]

w
N

>
n
—

Question Number : 49 Question Id : 36496352409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR 15, 50, 120, 6, 80, 100, 10, 8, 10, 15, 15 % TR, Tgeh A AT 1 A1 2.

Options :
1. 48



Question Number : 50 Question Id : 36496352410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Numbers 29,30, 31............, 88, 89 and 90 are written on slips (one number on one slip) and these slips are kept ina
box. Then, a slip is drawn from the box at random. What is the probability that number in the drawn slip is not a prime
number?

Options :
15
7. 62

47

24

Question Number : 50 Question Id : 36496352410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR 29, 30, 31, 88, 89 31 00 1 T o T (o o o ) A R U o e
T e e 21 73, 39 eeer 9 8 ok O g e 0 el el 21 et v e ¢ o et R el
T ST T R} Ay

Options :
15
1. 62



47

24
4. 31

Question Number : 51 Question Id : 36496352411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the following

L Conjecture a. A statement that is assumed
to be true, which cannot be
proved

II. Proof b. An assertion, the truth of
which has not yet been
established

III.  Axiom c. A complete argument,
which proceeds logically
from the assumptions to the
conclusion to support the
truth of an assertion.

Options :
1. I:b, II-c, Ill-a

, I, I-c, II-b

3. I-c, II-a, III-b

4. I-a, II-b. III-c

Question Number : 51 Question Id : 36496352411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

AT o7 GHTeTd hiTaT;

. A a. T U 1576 92! 991 9T B, SN T
RO 2T TR S ST 2

1. SquT b. T TRy, TSTEEhT Feaar ot 9%
IO & &1 T 2

111, ==Es c. ugﬂ'ﬁn% SMTeR TR it TegdT T

Eﬁﬂ#$%ﬁmﬁ@ﬁ3ﬂmﬁ1‘ﬁ
e it TR TR 2

Options:

. 1b, Il-c, Ill-a

, I-a, Ilc, INI-b

5 lc, Il-a, 111

5 L-a, 11-b, Ill-c

Question Number : 52 Question Id : 36496352412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following may not be a purpose of a Mathematics Lab?
Options :

1. Tohelp students comprehend mathematical concepts effectively by utilizing concrete teaching learning material
5 To give space for students to prepare for mathematics test.

3. To enhance their interest and motivation in learning mathematics.

4. To conduct activities focussed at mathematical problem solving using games, puzzles and models.



Question Number : 52 Question Id : 36496352412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTAfeARad o & SHI=-9T 0T TSI 31 3299 981 2 Jehar?

Options :

, ﬁ%mﬁmﬂ%mﬁmwwm SR ] G § TETaT |

, ST 31 0T 31 I 6 AT o foTm veh =4 FATea sam)

5 DT T IO SATERTH 3 Hid & ST IeHTE T3

A T, TETera S 2T (RTee) 1 S0am gﬂﬁﬁﬁﬂﬁ-ﬂ%ﬂ?ﬁﬁﬂﬁ%ﬁﬂf%ﬁl

Question Number : 53 Question Id : 36496352413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Agtt grade student uses a protractor to measure some angles on a given worksheet. While doing so he/she measures an

80° angle as 100°,60° angle as 120°,70° angle as 110° and so on. What must be the most appropriate reason of this
error?

Options:
1. He is holding the protractor incorrectly.
o He has not grasped the skill to read an angle in right direction using a protractor.

3 He is not aligning the vertex of the angle with the center of the protractor.

4 Heisright in doing so as both the measures have same meaning.



Question Number : 53 Question Id : 36496352413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Toh 31 A 7 T g T ST VT S0 3T T 21 T 2 S0° F A A 100°
it T 2, 60° o 120° S 70° T 110°.... STR-7T) 58 A o1 7 o et S o 1 2 e
?

Options :

| & =S T T a1 o UFHE T 2

. T S T ST e I 61 T T 5 A Ot o P17t ol QU 0 7 e

-

3. T IO IS A =S o g o E T e R

. T F T FET F T FANH ST HIUHTAT T UF B AL 2

Question Number : 54 Question Id : 36496352414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements does NOT pertain to inductive approach of teaching and learning mathematics?
Options:

1. Reasoning from specific facts to general principles of mathematics.

5 To help students reach a formula through sufficient number of concrete, specific examples.

3 It is a teacher centric approach to teaching mathematics.

4. The learners are encouraged to devise the mathematical formulae on their own.



Question Number : 54 Question Id : 36496352414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TATeATEd & H Shi=-HT U 3707 ST SN %7 STHATHE YT i TEl G9Tie 27

Options :

1 éiﬁﬁmﬁﬂﬁﬁﬂﬂﬁﬁ%ﬁmw{cqluqﬁ}ﬁ-inaid“inmd%mwu
. T S I ffeTe SaTeeett o e & frarteat o1 e 7 79 =i 5 Feraat

3 TE A UG T UF FSTea-h5a IUTH 2

. feTeqTefant =t =i IOt % T 1 @IS % o7 Teattea )

Question Number : 55 Question Id : 36496352415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following best illustrates the constructivist approach of teaching “Mensuration” in accordance to the ideas
mentioned in National Curriculum Framework (2005).

Options :

1. Introducing the various formulae for solving application based question on mensuration on the blackboard.

Helping the learners to discover ways to find out areas and volumes of given shapes using solid shapes and everyday
5. Objects.

3. Children are told to solve the problem on their own based on the solved examples in the textbook.

4. Using various computer based applications to teach the concepts of areas and volumes.



Question Number : 55 Question Id : 36496352415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e & & 1991 ST T o o ToTae] STeenim o o 7= 9870 2, 31 T4 T &y
(2003) % 2 T 3 A7 2

Options :

. T 1 BT T 2l S ST 5 ST O ST S o 2 et

I TR ST T 61 Gl 7 ST e O 1 (G T SATRTT 7 7 SAT ST S 3 o ot
Tt e o et R 5 e |

. O o TG B T e e et frd ol e o g 0 ot e

. %ﬁqr——rmtgtmnﬁ?r o TR T ST ek SRt ST AT 3T ST 61 G|

Question Number : 56 Question Id : 36496352416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an objective of mathematics Curriculum as per National Curriculum Framework 2003
Options :
1. Relate mathematics with daily experiences of students.

> Mathematisation of child’s thinking process.

3. Develop rigour in algorithms.



4 Engage students in meaningful problem solving.

Question Number : 56 Question Id : 36496352416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ut{m HIQﬂﬂﬁi BT 2005 F ERRIN efernad | § i9-91 70T HiQﬂﬂﬂT Eall ai-‘etl ﬁ%l

Options :

 TIUTer <t STt o6 2 STt § weiferd e

, &= 2 far=me wfsra =7 mfoTefteRTo

5 FEARTETe T ST &t 3

. AT FEETAT H1 T A H D] Tl 7 (FeA) FA

Question Number : 57 Question Id : 36496352417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following concepts can be explained using the given illustration?
—+5=14/16

Options :

1 Variables in algebraic expression

» Constant value in algebraic expression

3. Cube roots

4. Algebraic equation



Question Number : 57 Question Id : 36496352417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

efeTias o § ToFe ST i ST 70 SU1F o1 ST 3hieh T ST e 27
_ +5=416
Options :

1 T ESE T

, ST e H e 9

=5 HA
3. =

4, ST THTEROT

Question Number : 58 Question Id : 36496352418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

4 , g il ;I .

When a sixth grader was asked ‘which is greater - or 7', the student always says -. What can be the most appropriate
. : . . da ' .

response to the given situation with respect to teaching and learning of fraction?

Options :
1. It is too early for a sixth grader to understand fractions.
> The misconception arises due to the large value of denominator.

3. The student has not memorized the concept properly.

4. The student needs to practice similar questions from textbook.



Question Number : 58 Question Id : 36496352418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

aaummwmwaww% - wﬁmﬁm@r%ﬂﬁwwm%- | foe 3 fover.
aﬁmmwmﬁﬁ%?@ﬁwﬁ?aﬁmﬁnsﬁ&ﬂ%mﬁvwm?“

Options:
1 TS FT F B F (070 T¢ TG0 TG BT bl T T il ST il Tt 11 Foh|

, T Wit T T A1 ST T4 3 0T 3e9 2T 2

5. BT T TR 1 315 § T78 T2 5 2

. ElEEaRCE T T THT TR T TITAT T ST T4 T ATFIIFHAT 2

Question Number : 59 Question Id : 36496352419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Atteacher cuts a circular paper into thin sectors and aligns them to form rectangle. This is an activity to illustrate a way
fo derive

Options :
1. Circumference of the circle
2. Formula for area of the circle

3. Diameter of the circle

4 Transformation of circle to rectangle



Question Number : 59 Question Id : 36496352419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e T T ST T 1 91212 FISaUE! 3 e € 0 97 ST 6T o5 o0 §U1G T 21 7 T
iz o I o ke ki ki

Options :

| ERkeaR i)

1

=kl ?ﬁ gﬁ%ﬁ EARsE
2,0 =

, I =E

5, T T TR T =T

Question Number : 60 Question Id : 36496352420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the National Curriculum Framework (2005), which of the following cultural resources may be least
confributing to the pedagogy of mathematics?

Options:
1 Stories and anecdotes consisting numerical riddles.
- Traditional occupation knowledge of counting and calculations.

3 Artefacts involving patterns of shapes and arrays.

4. Techniques of rote memorization.



Question Number : 60 Question Id : 36496352420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

410 e T 2005 SRR (A1 3 H 1751 H 7 ST TV o717 H e 90
e 3+ AT T 1 9 2

Options:

TR W O, = T N S,
| FEIET SR T o SeamTedes Uefordl |earerd &

5 TIUHT 3T GREFeT 31 TRUTER S ST T

; oo Fueeor fSe STTepfera ST v (SET) 3 MTaaT (9e) Jistera 2l

4. T2 T IATE T T T/

Question Number : 61 Question Id : 36496352421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following sets of reactants

A. Al,(SOy) 5 (aq) + Zn(s)
B. Al,(SO,); (aq) + Fe(s)
C. CuSOy (aq) + Fe(s)
D. Cu SO, (aq) + Zn(s)
Reaction will take place in
Options :
1. Aand B

5 Only C



3 OnlyD

4, Cand D

Question Number : 61 Question Id : 36496352421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= fou T iRt (ST ¥ 9= I e Fie)
A. ALL(SOy); (aq) + Zn(s) )
B. Al,(SO,); (aq) + Fe(s)
C. CuSOy (aq) + Fe(s)
D. Cu SO, (aq) + Zn(s)
T © ToREm TR STrafsRaT arir
Options :
1 A¥RB

> TR C
3 T D

4 CHARD

Question Number : 62 Question Id : 36496352422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An element X" is a poor conductor of electricity. It burns in oxygen to produce a gas which dissolves in water and the
solution turns blue Litmus paper red. The element ‘X’ is -

Options:



1. Carbon
- Nitrogen
3. Magnesium

4. Sulphur

Question Number : 62 Question Id : 36496352422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1, RIS

2, TIRgISH

Question Number : 63 Question Id : 36496352423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The various steps of a nitrogen cycle are given below.
(a) Rain washes down the gaseous nitrogen compounds to soil
(b)Lightning strikes atmospheric nitrogen
(c) Bactria turns compounds of nitrogen into gaseous nitrogen
(d)Plants uptake the nitrogen compounds
(e) Animals eat plants and excrete nitrogen compounds

The correct sequence of steps is

Options :
1 b.ad g ¢

, a,b,cde
3 G, bdea

4 die,c b a

Question Number : 63 Question Id : 36496352423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T T T e T
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Options :
1 b.a.d e ¢

, ab,cde

3 G b,d e a



4 d.e.c, b, a

Question Number : 64 Question Id : 36496352424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The chemicals added to test the presence of protein in a food sample are

Options :
1. Copper sulphate, baking soda
o Copper sulphate, caustic soda

3. Zinc sulphate, baking soda

4 Zinc sulphate, caustic soda

Question Number : 64 Question Id : 36496352424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 65 Question Id : 36496352425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the relationship between the loudness of sound and its amplitude?
Options:

1. Loudness « {am[:rlimd*e'l2

1
Loudness o

2 {amplitude)®

3 Loudness « {amplimde}B

1
Loudness @ ———
amplitude

Question Number : 65 Question Id : 36496352425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST T T=ET AN IHF ATIH o 7 TaT 27

Options :



Steal X ——

Question Number : 66 Question Id : 36496352426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the following members of solar system in column A with their characteristics in column B

Column A Column B
(a) Asteroids (1) Small objects that occasionally enter
the earth’s atmosphere
(b) Comets (i) Small objects present in the gap
between Mars and Jupiter
(c) Meteors (iii) Objects that revolve around the
earth at a much closer distance
(d) Artificial satellites (iv) Celestial objects with bright head
and long tail

Options :
1 (@)-(1v), (b)~(111), (c)~(i1), (d)-(1)

5 (@)-(ii), (b)-(ii), (c)-(i), (d)-(iv)

3. (@)-(i), (b)~(1), (¢)-(1v), (d)-(iii)

n (a)-(i1), (b)-(1v), (c)-(1), (d)-(ii1)

Question Number : 66 Question Id : 36496352426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 a-(1v), b-(ii1), c-(i1), d-(1)

, a-(iil), b-(i1), c-(i), d-(iv)

5. a-(i1), b-(1), e-(iv), d-(iii)

4. a-(i1), b-(1v), c-(1), d-(iii)

Question Number : 67 Question Id : 36496352427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following solutions in water do not conduct electricity?

Options :

1. Lemon juice

- Sugar solution



3. Caustic soda solution

4. Common salt solution

Question Number : 67 Question Id : 36496352427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

= O O -7 S 1T e %gﬁ ST 3T =TeAS J21 FAT?
Options :
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Question Number : 68 Question Id : 36496352428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The odometer of a bus reads 4000km at the starting point from Delhi and 41 50km on reaching its destination in 3 hours.
The average speed of the bus is

Options :
1. 13.8 m/s

> 138 m/s

3. 128 m/s



4. 12.8 m/s

Question Number : 68 Question Id : 36496352428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 13.8 &7 /F=FvE

, 138 ot./Hsue

3. 128 ot /&=rue

4. 12.8 °7. /@S

Question Number : 69 Question Id : 36496352429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Characteristics of 3 types of soil A, B and C are given below. Which of these is best for growing wheat?

Soil type Particle proportion Water retaining
property
A Large numbers of big particles Low
B Large numbers of fine particles High
g About same number of big and Moderate
fine particles
Options :
1. OnlyA

2. Aand B



3  BandC

4, Aand C

Question Number : 69 Question Id : 36496352429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A, B 4T C T 7 i e 2 s e et fer e ) 7 o e o o 9 4 - o e e )
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Options :
1 FIAA
, ARB
3. B AT C
4 AFRC

Question Number : 70 Question Id : 36496352430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Different organisms respire through different organs. Match the following organisms in column A with their organs of
respiration in column B

Column A - organisms Column B - organs of respiration
(a) Frog (i) Gills
(b)Earthworm (i) Tracheae
(¢) Cockroach (iii) Moist skin
(d)Fish (Iv) Lungs
Options :

1. (@)-(1v), (b)-(i1), (¢)-(i1), (d)-(1)

, (@), (b)-(id), (©)-(0). (d)-(iv)

3. (@)-(iD), (b)-(1), (c)-(iv), (d)-(iii)

4. (@)-(1i), (b)-(i1), (c)-(iv), (d)-(1)

Question Number : 70 Question Id : 36496352430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
fafir ot fafi ot gT0 e 9 81 W6 A 5 R o et 6, 6 B 5 R T 4 5 3 T T

TY-A W W9-B 4T & 3
2. ToF (1) 7
b, A (i) e
. T (if) et 7
d. Fe (V) 58
Options :

1. a-(1v), b-(iii), e~(ii), d-(i)

. a-(iif), b-(if), c-(i), d-(iv)



. a<(ii), b-(i), e-(iv), d~(iii)

. a-(iii), be(ii), c-(iv), d-(i)

Question Number : 71 Question Id : 36496352431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about forests is not correct?

Options :

1 Forests protect the soil from erosion.
5 Forests help in bringing good rain fall in neighbouring areas.
3, Forests influence climate, water cycle and air quality.

4. In aforest, trees form the uppermost and shrubs form the lowest layer of vegetation.

Question Number : 71 Question Id : 36496352431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 3 Hev 9T 5 § FI-6T YT 97 T8 27
Options :
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Question Number : 72 Question Id : 36496352432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following adaptations help camels survive desert conditions?

Options :
1. They have long legs
5 They urinate a lot

3. They sweat lot

4 Their dung is moist

Question Number : 72 Question Id : 36496352432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
5521 1 AT 20l Gl S T8 3 (o0, 9 5 § -4 ST 968 1 0

Options :
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Question Number : 73 Question Id : 36496352433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the names of glands given in column A with conditions caused due to thelr irregular functioning given in column

B

Column A (Glands)

Column B (Conditions)

(a) Thyroid

(i) Diabetes

(b) Pancreas

(1) Stress and anger

(c) Adrenal gland

(i) Goitre

(d) Pituitary gland

(iv) Stimulated growth

Options:

, (@-(iv), (b)-(i), (0)-(), (d)-(ii)

. (@), (b)-(0), (e)i). (d)iv)

4. (@)-(1v), (b)-(ii), (c)-(iii), (d)-(i)

Question Number : 73 Question Id : 36496352433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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d. drgw (i) 5 5
Options :

1. a-(iv), b-(ii1), c(i), d-(ii)

(i), b-(iv), (i), d-(i)

5 a-(iii), b(i), e~(ii), d-(iv)

. a-(iv), be(i), e~(ii), d-(i)

Question Number : 74 Question Id : 36496352434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true about veast?

Options :

1. Yeast is single celled.

o Yeast multiply rapidly and produces carbon dioxide during respiration.

3. Yeast can remain dormant for a long time.

4. Yeast reproduces by fragmentation.



Question Number : 74 Question Id : 36496352434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Iz & v 9 79 9 & -9 97 7 TE 22

Options:
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Question Number : 75 Question Id : 36496352435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion (A) : Burning of a piece of paper to produce ash is an example of chemical change
Reason (R) : Burning of a piece of paper is an irreversible change

Options :
1 Both (A) and (R) are true and (R) is the correct explanation of (A).
2 Both (A) and (R) are true but (R) is not the correct explanation of (A).

3 (A) is true but (R) is false.

4 (R) Is true but (A) is false.



Question Number : 75 Question Id : 36496352435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496352436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A tester was used to check the conduction of electricity through a liquid and it was found that the bulb of the tester did
not glow. Which of the following two statements will be able to explain this observation.

(A) The circuit of tester remained incomplete

(B) The current through the tester was too weak

Options:
Only A

1
> OnlyB

3. BothAand B

4. Neither A nor B



Question Number : 76 Question Id : 36496352436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 FEAA

Question Number : 77 Question Id : 36496352437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the correct statement from the following:
Plants of wheat and grass have

Options :
1 same type of roots but different type of leaf venation.

- same type of roots and leaf venation.

3 different type of roots and leaf venation.



4. different type of roots but same type of leaf venation

Question Number : 77 Question Id : 36496352437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496352438 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The table given below enlists the properties of three materials A, B, C which of these materials would you use to make
small current rating fuse in a domestic electric circuit.

Material | Melting point in Celsius | Specific Resistance (€ m)
A 1090 17x10°8

B 240 112x107

. 80 16x107°
Options:

1. Aand C



2 Band A

3 Only B

4. Only A

Question Number : 78 Question Id : 36496352438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A A A, B o C g R e g
T T 5 T T e A 0 a5 o e

WY | CATwE | o e (Q m)
A 1090 171073

B 240 112x107
C 980 16x107°

Options :
1. AT C

> BT A

Question Number : 79 Question Id : 36496352439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is incorrect?

Options :

1. The motion of a ball rolling on the ground is rectilinear as well as rotational.
> The motion of a child on a swing is period as well as oscillatory.
3. The motion of a point on the blade of an electric fan is circular as well as periodic.

4 The motion of the needle of a sewing machine is oscillatory as well as rectilinear.

Question Number : 79 Question Id : 36496352439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
et & & F19-97 F99 98 981 22

Options :
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Question Number : 80 Question Id : 36496352440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The following paragraph describes the formation of a rainbow. Identify A, B, C, D and E

When sunlight falls on tiny droplets of water, some rays undergo A at the boundary of the two media and split into
constituent colours. ___B_ colour deviates the maximum and its speed is _C whereas D colour deviates the least and

it has E frequency.
A, B, C, D and E respectively are

Options :

1 refraction, violet, minimum, red. minimum
2 reflection, violet, maximum, red, minimum
3 scattering, red, minimum, violet, maximum

4 refraction, red, maximum, violet, maximum

Question Number : 80 Question Id : 36496352440 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496352441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Many science text books, such as the NCERT, provide additional information like anecdotes, stories and strange facts in
a box within the relevant chapter.
Which of the following is NOT correct with regard to these?

Options :

1. They make up for the paucity of additional reading material for children.
o These are helpful in evaluating the students.
3. These could be helpful in generation of students’ interest in the subject.

4. They could be helpful in understanding the nature of science.

Question Number : 81 Question Id : 36496352441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496352442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following criteria of validity of a science curriculum requires involving the learners in acquiring the
methods by which scientific knowledge is generated and validated?

Options:

1. Cognitive
2. Content
3. Process

4. Historical

Question Number : 82 Question Id : 36496352442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

373 3 8 T e 61 7T 81 -1 I TV 1 & T T 0 0 3 6 e 2 e
TR 47 7% 9P 2171 2 1T 38 T e 2

Options:

1. HETTeE

, Tt (FrwEa)

TEH (STTERET)



Question Number : 83 Question Id : 36496352443 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher is planning for a class on simple pendulum with her students. She has a few materials-
A. Thin elastic string
B. Light weight spring
C. Cotton thread

Which of the above materials can be chosen as the strings of a simple pendulum?

Options :
1. Aand B

> OnlyB

3. Band C

4. Only C

Question Number : 83 Question Id : 36496352443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496352444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Acclass VII teacher askes the following questions to her students in the class.

*What altemative sources of energy would you use to conduct your daily life activities if there was a power outrage in
your area for about a week?”

The question is least suitable for which of the following:

Options :

sensitising the learners on judicious use of electricity.
1 £ 4
- promoting divergent thinking in learners
3, assessing students’ familiarity with alternative sources of energy

4 assessing the general awareness of students

Question Number : 84 Question Id : 36496352444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496352445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from among the following.
Options :

1. What is the difference between sliding and rolling?

5 Do objects moving through a liquid experience a force of friction?

3 How does the streamlined shape of a boat help in its motion?

4. What would happen if the force of friction ceased to exist?

Question Number : 85 Question Id : 36496352445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496352446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass VII teacher wishes her students to infer the characteristics of the images formed by the plane mirrors, Which of
the following activities would be most helpful in introducing this topic?

Options :

1 Students draw ray diagrams showing image formation

Students place different objects at different locations in front of a plane mirror and observe the characteristics of their
3 images

3. Students study the diagram of a periscope given in the textbook

4. Students play around with a pin hole camera and record their observations

Question Number : 86 Question Id : 36496352446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496352447 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are the names of a few process skills in column I. Match them with their appropriate indicators in column
II

Process Skill Indicator
A. Observing () putting various pieces of
information together to
understand the complete
situation
B. Hypothesising (1I) suggesting explanations which
are festable
C. Predicting (1ii) displaying results through
appropriate means
D. Communicating (Iv) making use of evidence to say
something about an unfamiliar
situation
E. Funding patterns (v) using the senses to gather dafa.
Options :
. A<(iv), B(iii), C-(i), D-(v), E<(ii)

, A-(v), B~(iii), C(iv), D(i), E<(ii)

o A-(v), B(ii), C(iv), D~(iii), E~(i)



4 A(iii), B(i), C(ii), D(v), E<(iv)

Question Number : 87 Question Id : 36496352447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. A<(iv), B(ii), C-(i), D(v), E(ii)

, A-(v), B(iif), C(iv), D-(i), E(ii)

5 A-(v), B-(11), C-(1v), D-(111), E-(1)

4. A(iif), B~(i), C~(ii), D-(v), E-(iv)

Question Number : 88 Question Id : 36496352448 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following devices is best suited for demonstrating the relationship between pressure and volume of a given
amount of air?



Options :

1 Inflating a balloon.
o Pushing the piston of a syringe inwards.
3. Inflating a football.

4. Holding your breadth for a few seconds.

Question Number : 88 Question Id : 36496352448 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496352449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Developing scientific attitude is an important objective of teaching science at upper primary level. Which of the
following is NOT an indicators for assessing scientific attitude in students?

Options :



1. Looking for cause-effect relationships
o Identifying patterns and relationship in observations
3 Watching science fiction films

4. Searching for plausible explanations for everyday phenomena

Question Number : 89 Question Id : 36496352449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496352450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following goals is NOT associated with the development of scientific literacy?
Options :

1. Developing the ability to follow reports on scientific issues that appear in popular media.



o [Forming informed options about scientific issues of national concern.
3 Developing a functional understanding of science among people.

4 Imparting necessary knowledge and skills for a scientific profession.

Question Number : 90 Question Id : 36496352450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 3649631670
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 17



Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649633030
Question Shuffling Allowed : Yes

Question Id : 36496352451 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions, comp lete
the statements that follow by choosing the appropriate options
from the given ones.

Kennedy is a country doctor, and lives in Colebrook, on the
shores of Eastbay. A good many years ago, now on my return
from abroad, he invited me to stay with him. I came readily
enough, and as he could not neglect his patients to keep me
company, he took me on his rounds — thirty miles or so of an
afternoon, sometimes. I waited for him on the roads, and, sitting
in the dogcart I could hear Kennedy’s laugh through the half-
open door, left open of some cottage. He had a big, hearty laugh
that would have fitted a man twice his size, a brisk manner, a
bronzed face and a pair of grey. profoundly attentive eyes. He had
the talent of making people talk to him freely. and an
inexhaustible patience in listening to their tales.

One day, as we trotted out of a large village into a shady bit
of a road, I saw on our left had a low, black cottage, with
diamond panes in the windows, Kennedy pulled up to a walk. A
women in full sunlight, was throwing a dripping blanket over a
line stretched between two old apple trees. Covered by a thick
dog-skin glove the doctor raised his voice over the hedge: “How’s
your child, Amy?”

I had no time to see her dull face, red, not with a blush that
covered it but as if her flat cheeks had been vigorously slapped,
and to take in the squat figure, the scanty, dusty brown hair
drawn into a light knot at the back of the head. She looked quite
yvoung. With a distinct catch in her breath, her voice sounded low
and timid.

“He’s well, thank you.”
We trotted again, ‘A young patient of yours’, I said: and the
doctor, flicking he house absently, muttered. "Her husband used
to be’.

Sub questions

Question Number : 91 Question Id : 36496352452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The doctor took his friend on his rounds as :

the friend was interested in medicine.

the friend could not be left alone at home.

he thought his patients needed him more than his
friend.

4. the friend liked to move around the village.

W =



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496352453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The doctor was:

very efficient in his job.
very friendly and jovial.
liked to travel.

talked more than he listened.

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496352454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) His patients were very frank with the doctor,
(b) The doctor used to leave the cottage door open for
his friend.

(a) is right and (b) is wrong.
(b) is right and (a) is wrong.
Both (a) and (b) are right.

Both (a) and (b) are wrong.

W -

i

Options :
1.1
2.2



3.3
4.4

Question Number : 94 Question Id : 36496352455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Amy used to be Kennedy’s patient.
(b)She was a plain, simple woman.
(c) It seems that the doctor’s friend did not like her.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (b) are wrong.

W d =

i

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496352456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option:

1. The doctor went on his rounds always in the
morning.

Sometimes his friend went with him as far as thirty
miles.

. They used to travel in a coach.

4. His visits to his patients were leisurely.

1

L]

Options :
1.1
2.2
3.3



4.4

Question Number : 96 Question Id : 36496352457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*....profoundly attentive eyes....”
The underlined word means the same as

overtly
cleverly
deeply
nicely

k] e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496352458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

““.....over a line stretched between...”
The underlined word is opposite in meaning to :

cleared
shortened
broken
forced

i e

P

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496352459 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*T had no time to see the dull face™.
Above expression is a/an clause

principal
noun
adjective
adverb

s bl o

il

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496352460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She looked guite voung.”
The underlined word is a/an

Noun
Verb
Adjective
Adverb

sl et

s

Options :
1.1
2.2
3.3
4.4

Question Id : 36496352451 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions, comp lete
the statements that follow by choosing the appropriate options
from the given ones.

Kennedy is a country doctor, and lives in Colebrook, on the
shores of Eastbay. A good many years ago, now on my return
from abroad, he invited me to stay with him. I came readily
enough, and as he could not neglect his patients to keep me
company, he took me on his rounds — thirty miles or so of an
afternoon, sometimes. I waited for him on the roads, and, sitting
in the dogcart I could hear Kennedy’s laugh through the half-
open door, left open of some cottage. He had a big, hearty laugh
that would have fitted a man twice his size, a brisk manner, a
bronzed face and a pair of grey. profoundly attentive eyes. He had
the talent of making people talk to him freely. and an
inexhaustible patience in listening to their tales.

One day, as we trotted out of a large village into a shady bit
of a road, I saw on our left had a low, black cottage, with
diamond panes in the windows, Kennedy pulled up to a walk. A
women in full sunlight, was throwing a dripping blanket over a
line stretched between two old apple trees. Covered by a thick
dog-skin glove the doctor raised his voice over the hedge: “How’s
your child, Amy?”

I had no time to see her dull face, red, not with a blush that
covered it but as if her flat cheeks had been vigorously slapped,
and to take in the squat figure, the scanty, dusty brown hair
drawn into a light knot at the back of the head. She looked quite
yvoung. With a distinct catch in her breath, her voice sounded low
and timid.

“He’s well, thank you.”
We trotted again, ‘A young patient of yours’, I said: and the
doctor, flicking he house absently, muttered. "Her husband used
to be’.

Sub questions

Question Number : 91 Question Id : 36496352452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The doctor took his friend on his rounds as :

the friend was interested in medicine.

the friend could not be left alone at home.

he thought his patients needed him more than his
friend.

4. the friend liked to move around the village.

W =



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496352453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The doctor was:

very efficient in his job.
very friendly and jovial.
liked to travel.

talked more than he listened.

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496352454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) His patients were very frank with the doctor,
(b) The doctor used to leave the cottage door open for
his friend.

(a) is right and (b) is wrong.
(b) is right and (a) is wrong.
Both (a) and (b) are right.

Both (a) and (b) are wrong.

W -

i

Options :
1.1
2.2



3.3
4.4

Question Number : 94 Question Id : 36496352455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Amy used to be Kennedy’s patient.
(b)She was a plain, simple woman.
(c) It seems that the doctor’s friend did not like her.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (b) are wrong.

W d =

i

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496352456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option:

1. The doctor went on his rounds always in the
morning.

Sometimes his friend went with him as far as thirty
miles.

. They used to travel in a coach.

4. His visits to his patients were leisurely.

1

L]

Options :
1.1
2.2
3.3



4.4

Question Number : 96 Question Id : 36496352457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*....profoundly attentive eyes....”
The underlined word means the same as

overtly
cleverly
deeply
nicely

k] e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496352458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

““.....over a line stretched between...”
The underlined word is opposite in meaning to :

cleared
shortened
broken
forced

i e

P

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496352459 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*T had no time to see the dull face™.
Above expression is a/an clause

principal
noun
adjective
adverb

W

i

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496352460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘She looked guite voung.”
The underlined word is a/an

Noun
Verb
Adjective
Adverb

sl et

i

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649633031

Question Shuffling Allowed : Yes

Question Id : 36496352461 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following poem and answer the questions/complete the
statements that follow by choosing the most appropriate options
out of those given below.

ABRAHAM ILINCOLN'S LETTER TO HIS SON’S TEACHER

1. He will have to learn, I know,
that all men are not just,
all men are not true.
But teach him also that
for every scoundrel there is a hero,
that for every selfish politician,
there is a dedicated teacher.......
Teach him for every enemy there is a friend.

I

Let him learn early that

the bullies are the easiest to lick.....

Teach him, if you can

the wonder of books.........

But also give him quiet time

to ponder the eternal mystery of birds in the sky
bees in the sun.

and the flowers on a green hillside.

3. In the school teach him
it is for honourable to fail
than to cheat.........
Teach him to have faith
in his own ideas.
even if everyone tells him
they are wrong.

Sub questions

Question Number : 100 Question Id : 36496352462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“for every scoundrel there is a hero.” By making this
statement Lincoln wants us to realise that

there are many scoundrels in this world.
there are enough heroes also in this world.
all that glitters is not gold.

there is some good hidden behind every evil.

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496352463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lincoln wants his son to realise and appreciate the

books
nature
success
hillside

P g

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496352464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements
(a) Some people don’t believe in justice.
(b) All politicians are selfish.
(c) Lincoln wants his son to be properly educated.

1. (a) is right and (b) is wrong.
2. (b) is right and (c) is wrong.
3. (c) isright and (a) is wrong.
Both (a) and (b) are wrong.

=

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496352465 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
(a) Lincoln does not want his son to read books.
(b)He wants him to enjoy nature and its beautv.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right.
4. Both (a) and (b) are wrong.

Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 36496352466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“ponder * is stanza 2 line 14 means

. jest
4. consider

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496352467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In ‘eternal mystery’ the word eternal is used as a/an

Adjective
Adverb
Noun
Verb

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Id : 36496352461 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the following poem and answer the questions/complete the
statements that follow by choosing the most appropriate options
out of those given below.

ABRAHAM LINCOLN'S LETTER TO HIS SON'S TEACHER

1. He will have to learn, I know,
that all men are not just,
all men are not true.
But teach him also that
for every scoundrel there is a hero,
that for every selfish politician,
there is a dedicated teacher.......
Teach him for every enemy there is a friend.

I3

Let him learn early that

the bullies are the easiest to lick.....

Teach him, if you can

the wonder of books.........

But also give him quiet time

to ponder the eternal mystery of birds in the sky
bees in the sun.

and the flowers on a green hillside.

3. In the school teach him
it is for honourable to fail
than to cheat.........
Teach him to have faith
in his own ideas,
even if everyone tells him
they are wrong.

Sub questions

Question Number : 100 Question Id : 36496352462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“for every scoundrel there is a hero.” By making this
statement Lincoln wants us to realise that

there are many scoundrels in this world.
there are enough heroes also in this world.
all that glitters is not gold.

there is some good hidden behind every evil.

W -

s

Options :



1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496352463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lincoln wants his son to realise and appreciate the

books
nature

success
hillside

Options:

el v

e

1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496352464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements
(a) Some people don’t believe in justice.
(b) All politicians are selfish.
(c) Lincoln wants his son to be properly educated.

1. (a) is right and (b) is wrong.
2. (b) is right and (c) is wrong.
3. (c) isright and (a) is wrong.
Both (a) and (b) are wrong.

e

Options :
1.1
2.2
3.3



4.4

Question Number : 103 Question Id : 36496352465 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
(a) Lincoln does not want his son to read books.
(b)He wants him to enjoy nature and its beauty.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right.
4. Both (a) and (b) are wrong.

Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 36496352466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“ponder ** is stanza 2 line 14 means

1. brood
2. mock
3. jest

4. consider

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496352467 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In ‘eternal mystery’ the word eternal is used as a/an

Adjective
Adverb
Noun
Verb

ialecbud e

e

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649633032

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496352468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Situation (1): Sana and Irfan discuss their plans for the weekend over the telephone.

Situation (if): Rohan reads the given text and summarises the central idea of the story.

Considering Basic Inferpersonal Communication Skills (BICS) and Cognitive Academic Language Proficiency (CALP)
as two aspects of language skills, which situation represents what?

. (i)is CALP, (ii) is BICS
2. (1)is BICS, (ii) is CALP
3. Both (i) and (ii) are CALP
4. Both (i) and (ii) are BICS

Options:

1.1

2.2

3.3

4.4



Question Number : 106 Question Id : 36496352468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Situation (1): Sana and Irfan discuss their plans for the weekend over the telephone.

Situation (if): Rohan reads the given text and summarises the central idea of the story.

Considering Basic Inferpersonal Communication Skills (BICS) and Cognitive Academic Language Proficiency (CALP)
as two aspects of language skills, which situation represents what?

I (1)1s CALP, (ii) is BICS
. (1)isBICS, (ii) is CALP
3. Both (i) and (ii) are CALP
4. Both (1) and (ii) are BICS

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496352469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following represents the correct pedagogical sequence to develop the skill of 'making inferences' in
students?

1. Guessing
II. Reading and scanning
III. Identifying textual clues

. LILII
2 LI
3. LILI
4 MLLI

Options:
1.1
2.2
3.3
4.4



Question Number : 107 Question Id : 36496352469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents the correct pedagogical sequence to develop the skill of 'making inferences' in
students?

L. Guessing

II. Reading and scanning

III. Identifying textual clues

. LILII
2 L
3. LILI
4 ILLI

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496352470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following pedagogical methods aligns MOST CLOSELY with the content-based approach?

I. Showing day-to-day objects to students to help them construct sentences using idioms.

2. Asking students to circle new words from the passage and find its meaning using a dictionay.

3. Dividing the class into small groups and assigning each group a different story to read and discuss.
4. Choosing texts on topics that students are interested in and asking them to identify main ideas.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496352470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Which of the following pedagogical methods aligns MOST CLOSELY with the content-based approach?

. Showing day-to-day objects to students to help them construct sentences using idioms.

. Asking students to circle new words from the passage and find its meaning using a dictionary.

. Dividing the class into small groups and assigning each group a different story to read and discuss.
. Choosing texts on topics that students are interested in and asking them to identify main ideas.

Je el D —

Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 36496352471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After introducing active and passive voice to grade 6 students, a teacher set up a pair work activity:

Student A takes a sentence of active voice from a book and conveys it to Student B in passive voice. Student B tries fo
guess what the active voice would have been. Student A modifies the passive voice if needed, repeatedly, till Student B
guesses correctly.

The above activity MOST closely represents...

L. Swain's Output hypothesis

2. Krashen's Input hypothesis

3. Bruner's theory of development

4. Krashen's Acquisition-Learning hypothesis

Options:
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 36496352471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



After introducing active and passive voice to grade 6 students, a teacher set up a pair work activity:

Student A takes a sentence of active voice from a book and conveys it to Student B in passive voice. Student B tries fo
guess what the active voice would have been. Student A modifies the passive voice if needed, repeatedly, till Student B
guesses correctly.

The above activity MOST closely represents...

L. Swain's Output hypothesis

2. Krashen's Input hypothesis

3. Bruner's theory of development

4. Krashen's Acquisition-Learning hypothesis

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496352472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the LEAST APPROPRIATE way for the teacher Mr. Arun to demonstrate active listening in
a read-aloud class?

1. While a student is reading the story, teacher stops and corrects the student whenever he reads incorrectly and asks
him to repeat.

2. Once a student completes reading the story, the teacher asks him questions like "What were your main
takeaways?", "What did you learn?" etc.

3. Asastudent is reading the story, the teacher asks her follow-up questions like "What do you feel about the
author's view on...?"

4. After the student reads each segment of the story, the teacher summarizes it for the whole class and then asks the
student to continue.

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496352472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is the LEAST APPROPRIATE way for the teacher Mr. Arun to demonstrate active listening in
a read-aloud class?

1. While a student is reading the story, teacher stops and corrects the student whenever he reads incorrectly and asks
him to repeat.

2. Once a student completes reading the story, the teacher asks him questions like "What were your main
takeaways?", "What did you learn?" etc.

3. Asastudent is reading the story, the teacher asks her follow-up questions like "What do you feel about the
author's view on..."

4. After the student reads each segment of the story, the teacher summarizes it for the whole class and then asks the
student to continue.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496352473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children read and write to achieve the purpose of

Rote memorisation

Construction of the meaning
Completion of class room task
Seeking certificate for promotion
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Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496352473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Children read and write to achieve the purpose of

Rote memorisation

Construction of the meaning
Completion of class room task
Seeking certificate for promotion
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Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496352474 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following exercises can BEST help build underlying skills before introducing 'descriptive writing' to
students?

1. Students role-play where they have to read out given dialogues with expression.
2. Students have to design a creative ad poster using 100 words, for a given product.
3. In groups of 5, one student starts a story, the next one adds a line and so on.

4. Students define adjectives and list down different types of adjectives.

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496352474 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following exercises can BEST help build underlying skills before introducing 'descriptive writing' to
students?

1. Students role-play where they have to read out given dialogues with expression.
2. Students have to design a creative ad poster using 100 words, for a given product.
3. In groups of 3, one student starts a story, the next one adds a line and so on.

4, Students define adjectives and list down different types of adjectives.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496352475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements clearly indicates that the child is operating in the zone of proximal development
(ZPD)?

1. Arjun can read and comprehend the given passage and answer questions related to the same.
2. Sahil can write a passage on football after his teacher models it out for cricket and gives him key words related to

football.

3. Munira can read passages above her current grade level fluently and also helps her classmates in reading
whenever they face difficulties.

4. Ruby is not able to write a descriptive passage using the given key words despite her teacher helping her structure
the passage.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496352475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements clearly indicates that the child is operating in the zone of proximal development
(ZPD)?

1. Arjun can read and comprehend the given passage and answer questions related to the same.

2. Sahil can write a passage on football after his teacher models it out for cricket and gives him key words related to
football.

3. Munira can read passages above her current grade level fluently and also helps her classmates in reading
whenever they face difficulties.

4. Ruby is not able to write a descriptive passage using the given key words despite her teacher helping her structure
the passage.

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496352476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following grammar concepts/sub-concepts can BEST be taught using the 'inductive approach' to teaching-
learning?

1. The order of words to be used in a simple sentence

2. Collective nouns for various common nouns

3. The order of adjectives in a sentence with many adjectives
4. Sentence conversion from active o passive voice

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496352476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following grammar concepts/sub-concepts can BEST be taught using the 'inductive approach' o teaching-
learning?

1. The order of words to be used in a simple sentence

2. Collective nouns for various common nouns

3. The order of adjectives in a sentence with many adjectives
4. Sentence conversion from active to passive voice

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496352477 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does scanning refer to in the reading?

Reading for specific information
Reading for the gist of the text
Fast reading for others

Slow reading for oneself
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Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496352477 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What does scanning refer to in the reading?

Reading for specific information
Reading for the gist of the text
Fast reading for others

Slow reading for oneself
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e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496352478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is MOST suitable to evaluate if students can fully comprehend the text they read?

. Ask them questions like "Who are the main characters?" based on a passage.
. Ask them to circle all the new words they came across while reading.

. Ask them to provide a title for the given story based on what they read.

. Ask them to enact given parts of the story with a partner.

S U e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496352478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is MOST suitable to evaluate if students can fully comprehend the text they read?

. Ask them questions like "Who are the main characters?" based on a passage.
. Ask them to cirele all the new words they came across while reading.

. Ask them to provide a title for the given story based on what they read.

. Ask them to enact given parts of the story with a partner.
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Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496352479 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Below is an assessment exercise:

For the given passage. answer the following in less than 100 words:

(1) What was your favourite part of the story?

(2) If you were the main character, would you have reacted the same way?
Which of the following language skills does this BEST test?

Identifying central idea
Sharing author's viewpoint
Providing one's reflection
Creative writing
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e

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496352479 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Below is an assessment exercise:

For the given passage. answer the following in less than 100 words:

(1) What was your favourite part of the story?

(2) If you were the main character, would you have reacted the same way?
Which of the following language skills does this BEST test?

Identifying central idea
Sharing author's viewpoint
Providing one's reflection
Creative writing

e v

e

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496352480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching-learning materials is a good resource to build the skill of 'making inferences'?

I Authentic materials and texts

2. Word wall in the classroom

3. Same text translated in multiple languages

4. Flasheards with different images and guessing what it is about.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496352480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following teaching-learning materials is a good resource to build the skill of 'making inferences'?

I Authentic materials and texts

2. Word wall in the classroom

3. Same text translated in multiple languages

4. Flashcards with different images and guessing what it is about.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496352481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the BEST example of the 'blended learning approach' to teach about formal letter writing?

I The teacher teaches the format of formal letters, with some students joining in-person and some through video
conferencing,
. Inthe in-person class, the teacher teaches the format of formal letter writing and then assigns students an online
exercise to draft a letter to the principal.
3. The teacher delivers a lecture on formal letter writing over video conference and students then watch more videos
about examples of formal letters.
4. Students go through examples of formal letter writing in the class and then the teacher gives them an exercise fo
practice the format of formal letters.

[ ]

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496352481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is the BEST example of the ‘blended learning approach' to teach about formal letter writing?

[ The teacher teaches the format of formal letters, with some students joining in-person and some through video
conferencing.

2. In the in-person class, the teacher teaches the format of formal letter writing and then assigns students an online
exercise to draft a lefter fo the principal.

3. The teacher delivers a lecture on formal letter writing over video conference and students then watch more videos
about examples of formal lefters.

4. Students go through examples of formal letter writing in the class and then the teacher gives them an exercise o
practice the format of formal letters.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496352482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of foreign languages as

. An additional option at the secondary stage

. An option under three language formula

A language during the primary stage

. NEP doesn not recommend the study of foreign languages

_I;;I...ur-.:'l--—v

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496352482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



National Education Policy (NEP) 2020 recommends the study of foreign languages as

l. An additional option at the secondary stage

2. An option under three language formula

3. Alanguage during the primary stage

4. NEP doesn not recommend the study of foreign languages
Options :
1.1
2.2
3.3
4.4
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2.2
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Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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1.1
2.2
3.3
4.4
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4. Taamegt 9 S==1 $ 5T & ||

[-J

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496352494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HTEeF [erahTerd & 4T AT 27
. =TS o et o form qeashmera
. I {919 % AN % o, eashed|
. AT e & e = oo TR

3
4. FdT = F o TEeRT|

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496352495 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R CREG RIS FTIEIT T —
1. I OO 41 rﬂl{ qEhleTd SUcTo:] SRl
2. I ITET 9t 3 o TR SUeTe S|

3 Wmmﬁwﬁgﬁmmm

Easill
4. E:EWEF &1 TEAhTeTd ?ﬁ@f&m E )
FAT|
Options:

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496352496 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freAferiaga = & H19 & Taere geehrerd & =R F
|. =G ﬁgwmm FEMT

! aﬁﬁﬂ?ﬂn

I-J

3. QT Ok Sl
4. UEAERIET ST i i FTl
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496352497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ESEICE ﬁmdﬁrgﬂﬁgﬁﬁﬁﬂguﬁu = TR =
. &I 9 5=

. T H T Al S

3. ACHIE! H WOET

4. IR TS B AT FF

Options :

[

[

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496352498 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Eﬁa—ﬂm*mdﬁxﬁ—@“ =T 20
1. T&hT + 94
3
& + T

I-J

H:Mﬂﬁ + HTAH

3
4. H:MQ': + HeAd
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496352499 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1947 3762 HH{\EﬁﬁFT%‘?

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649633035

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496352500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



S AT 1 T T AT AT e g e e
wﬁaﬁﬁﬁaﬁﬁﬁggﬁmmﬁ#ﬁ?ﬁ 2 [DE7 T Tt 27
|, T % S TeTuT 31 et Sl o 2 1ot & TofT oy S AT A 7 37 T 35 T e o4
I
). T T 97e% ST AT o SIS 3 9 A T T B 9 A e |
3, R T et aen T 5 e T 4T 3 T T S
4, e et Tt o o O 0 o oA TR, 0 9 STema ST S aes (Seheiie) &7

Options :
1.1
2.2
3.3

4.4

Question Number : 136 Question Id : 36496352500 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
S AT 1 T T AT AT e g e e
wﬁaﬁﬁﬁmﬁﬁﬁﬁgmmﬁﬁﬁ?ﬁwﬁm sugrhu%ﬁ%?

|, T % S TeTuT 31 et Sl o 2 1ot & TofT oy S AT A 7 37 T 35 T e o4

F1

). TS U T8 ST ST 1 O S 35 7% S o e § 59 A g A

3, R T et aen T 5 e T 4T 3 T T S

4, e et Tt o o O 0 o oA TR, 0 9 STema ST S aes (Seheiie) &7

Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 36496352501 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

T S T F TR F G T BT W HA I SR (At o A Ha —

AT — U7, 29 30 FeT 1 @ W 27

T - 0 FERT A

ST — T, 77 36 T 3 G091 1 ] S 7 e

T — T T 70 JA § e 361 e & (o] 1 o] e 2|

T I 5 (T 51 61 1 O, o (o 13- Sl U, e300 S 2
|, ¥ = STHTIT 3 U A 3 (o0 Tk Tt 1 31 AT 49 ] 27
). T 35 o T A U AT ST £ 13 ST U e S 9l e £
3. FEF AR T (e o 717 e 3 U0 2, S o170 AT W 7 1o T 6 ST A E
4. P17 e TR S A FU F H G A )

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 36496352501 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T 1 T H T B G 1 AT § W ST B T o Y Ha —
AT — UM, 7 3 ! § 7 4@ 0 T 2
T — 39 T
AT — §7%, 79 T T | 3 AT 1 el ] 6 et 2
T — T T 10 A § e 1 ATl 3 e o1 e e 7
T I 5 T o S W T - e 9 - 74 2
|, TG 7 ST ] U e 2 (o Tk i 471 1 ST 4 1T 2
. T 35 T30 T 7 U AT SR 2 o 3T U el s o e 2
T R TSI S S0 S o T 2, T 0 S 9 B 19 T S A
4. -8 Fed e 3 AT H e O § 96 A £

Options :

d

1.1



2.2
3.3
4.4

Question Number : 138 Question Id : 36496352502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
o TR ST T 3 ST 1 SO 3 A X T ¢ A A 1 2 A S 7 6 |
S SRTERUT T 0 2 (o 9 61 TG (TS 2 2 56 A e (14 1 0 . (s ¢
et % o e e e
75 e e e e 2
|, e et

), ST ST
3, Tomrw e

4, TN et
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496352502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
oY T AT T AT 1 SR 3 & % AT | A 71 4T U 1 ]| 8 T
S5, SRTERVT TR 00 ¢ (o 9 1 ST (TS 2 5 A e [T 1 O e (e ¢
I 37 Tl 0 ST o e e
77 fovam ey e 2

|, FRTRTERRS St

), STTRHTEReS e

3, Tow ot

4, T St




Options :
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 36496352503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T oI 3 0 31 T S 71 379 P 2 - ToreIdiTea” T fre e 2
Feaferfige & & 1.4 ity g faf o e 29
. SRV G % 370 1 TR T € 31 [T 1 - 21 8 S 3 3 e
FEA 2 FE FAT A 2 T o T T e 2 T o T e e
') awlum%ﬁm&wEF:%ﬂl@i%%ﬁﬁﬁ%ﬁﬂﬁﬂm%ﬂﬂwﬁﬁwmﬁmﬁﬁﬁ%ﬁ
oAt 21 ot T T o7 et a0 ¢ 4T e 47 8 O o 4
3, TV T T ST A 2 A A 9 3 e S 0 f 0 e 2 A 7 6
1 T T 1 ST W T o T e ) e/t 5 el . feeff e e e e e 2
o 9 8 T A
4, Wﬁ?wﬁﬁﬂmﬁl“mﬂ@ﬁiﬂmi@ﬂm@ulwﬁwwdl%ﬁqﬁwmgw%
T S A

Options:
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 36496352503 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T a3 7 s s & v o v e e o a forn e 3
et o & 2.0 it 30 ot o See )
| ST TG 3 7 T TG T 2 1 (T 1 (A7 110 O O T 0 35 e,
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oAt 21 ot T T o7 et a0 ¢ 4T e 47 8 O o 4
3. AT T 21Tk ATl 0 AT eI 1 0 ¥ (e S 3 o F et | A e 6 e
1 T TR S B T 5 o e 2| fae o o ferneff o e e e A 2
o 9 8 T A
4. Tt gt = €] T O o T €, 0 S T T € A A1 g 9
T S A

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496352504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e A e AT R
. o TR S e A o T e 3 U 0 31 20 0 3 s € a1 1
g
). TR VRS VT et 4 2 AT o 3T ¥ %, e 1 7 e
3, T e 2 1 7 T T 1 e S T e 1 e RO 3 e,
4, ﬂ?ﬁwﬁiﬁﬁﬁé@ﬁaﬁ{ﬁﬁﬁmﬁﬁmﬁﬁwmﬂﬂﬁw Al

Options :

1.1
2.2
3.3
4.4



Question Number : 140 Question Id : 36496352504 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e .- 1 )
| ot e e e ot e ot frf e o e 9 g 6 e ¢ o e e
g
2. TH TATATS (o AT 12 G e 23T ¥ 2, 61 e 7 e g
3. T e 2 1 0 T T 1 e S Tl e 1 e SR 3 e, e
4, TR IO e O S e N @ W 3 e

Options :

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496352505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U3 % FE ShI9Te 3| U STAT0F FAetoAfgd Hesr adt 2—

(i) T we)

(ii) SRERTET AT TEAT STT=05 U5
(iii) T SAT=08 1 e 1 9|
(iv) e +ff Efem a7 Sy ug|

(v) o=, = 71 @1 W s
{x-'i}%@'i‘%‘&'lﬁ?rma% TR o forg sreet a7 FTeTe Ot A 2|
(vil) TTITST 9T SATREHT @dgt%d T
FTIF THAegd O & ShiF-9 HI97e7 [aehad F7 & T9T9 FL 5 272
|. TTE I U U (THRIE)
2. TR H UG (FH )
3. HRISTERTOT AT
4. MEA 93T

Options :



1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496352505 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U3 % FE SIS 2| U TAT0F Fetefgs Hesradt2—

(i) 3o Tl

(i) STEATET AT UEEAT SR UG
(iii) ST ST T TEAT A1 TG
(iv) 78 oft 2 7 SaEfE v

(v) fo=, = a1 s W = A

n-i}“T@TEmTrmE"‘rma% TR o Torg sreet a7 I ot a2

(vii) | 9T ARG &lj;{bi Tl
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|, TEEET S UT OEAT (SRIET)

. AT | UGHT (ThRIHT)

3. HRISERTOT FAT

4. TMEA 9

[

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496352506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tt 3 .81 TS T AT, 2020 3 ST Tt el o 7 2 27
1. Terestt T o ¥ € ¥ T
), U AT 7 T 1 71 A7 ST 7 ST 6 ST T T A A % 69§ S
3, A % TR % Y P
4. % A e 3 ST T o
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496352506 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt 3 .81 TS T AT, 2020 3 ST Tt el o 7 2 27
|, Tereuft oo 87 oA 9 @ T
), U AT 7 T 1 71 A7 ST 7 ST 6 ST T T A A % 69§ S
3, A % TR % Y P
4. O e e T T T |
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496352507 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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T 2] A (T 5 T 7 et e 3 0% ol 2, o e 1 e 31 e & 370 [0
T % S o 210 1 o
VEWTE 3T 1 91 9 ] SR 2) e
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Options :
1.1
2.2
3.3

4.4

Question Number : 143 Question Id : 36496352507 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T ATV T T 6 219 T ST & AT T T 36 o, T B 13 61 A7 78 e e
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Options :
1.1
2.2
3.3
4.4



Question Number : 144 Question Id : 36496352508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FET 5 AT R A &3 5 T AT AT T 2o S ST 1 S 27
} WW%Wﬂmwwwmqmqwmﬁqﬁ:ﬁwﬁmw
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EIEEE Dl
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4, ot o R T T 6 SR 1 ST 46T % AT 0 4T 2 61 o e
el
Options :
1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 36496352508 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T % 8 H 1 3 TR T ST faT 2o o S AT 3 S )
. 2 T 3 RO 1 ST T 0 T 68 SR % G 3 (4. o e 31 e e
). T & e 7 & 5 900 W 0 7 7 . 1 et 1o S % O T WIS 3 e ol T
Frr
3. T 1 7 T T T G O e S ] 3 (- (o 9 T 5 (4 6 O
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EEll
Options :

1.1

2.2



3.3
4.4

Question Number : 145 Question Id : 36496352509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

B 1 570 1% R 0 9 o —
T, e, 2, e, 1, B o o 9 e o e ) T SR 6 7 A N T A —
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Options :

)

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496352509 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496352510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
o ST = AU T e O T ST A0 T § ) 1 & T 6 3119 §A E an A 0
Foa e T o i e & 7T 1 e e v ot O S o i et e
£l
T o0 T o AT )
3. TR AT
4, TEHToH ARt
Options:

)

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496352510 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 36496352511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4



Question Number : 147 Question Id : 36496352511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Tfaftas o & F19-971 a9 9= 20 T iy S5 T sET ST E —
Tereneff ST B 3 TR faeTe = e = e
1. 3ug fora Tareroor ok %I o1 Ofd o —
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496352512 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4



Question Number : 148 Question Id : 36496352512 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. FTegHIET
Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496352513 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3



4.4

Question Number : 149 Question Id : 36496352513 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496352514 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
G TR TaT % S SAETVeR € o 38 Tl e o o et el 7 0 o0 2 0 o7 ey
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496352514 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



